
 

Dept.of Maths/TVIS/2024-25 Page 1 
 

                                    

 GRADE   -5                                 WORK SHEET   -     MATHEMATICS                                      2024-25     

 CHAPTER -2                                    ADDDITION &SUBTRACTION OF NUMBERS  

 Name  :……………………………….                                                  Date:……………….. 

 

  PART –A     MCQ 
 

i) When two numbers are added,the result obtained after addition is called  

 
        a) difference       b) sum                c)product              d)quotient  
 

 ii)When two numbers are subtracted ,the result obtained after  subtraction is called  
 

      a) difference       b) sum                c)product              d)quotient  
 
iii)  327467+794212 = …………………. 

          
      a)  2121679       b)1126179                c)1121679            d) 1136179 

 
iv)  742341 – 321554  = …………………….. 
 

      a)  743241          b) 842341               c)351742            d) 742341 
 

v) The price at which an article is sold is called  
 
           a)  profit      b)Selling price      c) loss             d) cost price   

 
vi) The price at which an article is  bought  is called  

 
           a)  profit      b)Selling price      c) loss             d) cost price   
 
 

FILL IN THE BLANKS : 

a) By how much is 3,45,789 greater by 99,999?............... 

b)S.P = C.P +………… 

c)  If 5862304 – 2784955 = 3077349, then  2784955 + 3077349 =---------------------- 
 
d)If SP==Rs 449 and Profit = Rs 22 , then  C.P=  Rs ………… 
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d) 25,650+………..= 26,000 
 
e) C.P= S.P-…………… 
 
f) The price at which an article is sold is called its ……………… 

e) The additional expenses on the things that we have already purchased is called  

     ……………………… 

 MATCH THE FOLLOWING: 

   

Write TRUE /FALSE 

1)  531298    - 242367 =  982667  

2) If S.P > C.P then there is  profit. 

3) C.P + Overheads  =Total cost price   

4) If C.P is greater than Selling price there is  profit  

PART – B  SUBJECTIVE  TYPE  QUESTIONS : 

1) Add the numbers : 

 

 SECTION    A 

  

SECTION B 

a) minuend – subtrahend =   

 

1. C.P + overheads 

b)The price at which an article is sold  is 

 

2. loss 

c) S.P=C.P +……….   

 

3. 37655 

d)Total cost price  = 

 

4.difference  

e)49,999- 12344 =  

 

5.profit 

f) When the C.P  is greater than its S.P    

then  there is  

6.selling price  
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 2)Add the numbers : 

    a) 812364         b) 1234 + 964222       c)  333432 + 45628+ 97236 

 3)Subtract :  a) 674528 –b83246         b)   100000- 9999   

 4) Do the following : 

    

5)Two candidates  stod in an election.ms.Shalini received 2,43,805 votes and  

Mr.kavi received 1,54,799 votes . How many votes were cast in all.? 

Who won the election and by how many votes? 

6) Find the profit or loss: 

   a) C.P = Rs 260  ,   S.P= Rs 299  b)        

   b)C.P= Rs 130 , cost of stitching = Rs 25    , S.P = Rs @30  

 7)Rahul bought a mobile phone for Rs 8,500 .He then sold it for Rs. T250.Did he  

   make profit or loss?How much? 

8)Peter bought a table for  for Rs 4,500 .He  spent Rs 500  on repairing and  

   painting it.He then sold it for for Rs. 4,500 . What was his profit or loss ?How    

   much. 

9) Find the selling price or cost price as required. 

   a)C.P = Rs 29,868 ,    Profit = Rs 785 

   b) S.P= Rs 32,715 , profit =  Rs 3240  
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 10)Manoj lost Rs 1,300 on a bed that he sold for Rs 25,555 .At what price did he  

    buy the bed? 

11)If C.P = Rs 105 and S.P = Rs 295, what is the profit or loss? 

12) Add  16,392; 2,13,215  and 6,92,94 

13)The population of Srirampur is 3,34,428 and the population of Shyampur is  

   3,34,650.Which town is more populated  and by how much? 

 


